


DL=165. 00

15 BEEET (H0O)

RERAENHD (2BH)
H=2. 0m L=9. 00m

EL=160. 50

EL=159. 50

+3.09
10.05 N 5.30
BR#RT 4.75x0.10x36.0=17. 1nd 5.7
15 BAkary ) — MEET (FEQ)
0.20 | 9.3 3.00 . 1.75 q.3p|0.20 BW-1.2-1(-s)
HMaI
| EL=164. 50
\ | .
| %
EL=162.33

KIS EAND

0.60%1.20x2.00~2#&

GW-1. 2-1 (b-S)

H=4. 00m L=8. 00m

a4 ) — hgEEE 47.36m3
HHEER 3.36m3

R THKBH% 138

T E=3 aWF—kIRA4TF T ¢$1.75m t=2. Tom L=17. 34m

= OB M 0.81x14.1=11. 42m3

#ix  BEERCP-1E! 1000 t=2.0mm L=8.0m 1m/65kg 65.0x8.0-+1.0=0.52t
FE4E=17. 1m3

BRYE (81)=272. 1m3

B%+=278. 4m3

HKEDERRR

S=1:50

CP-T & ¢1.75m

s 1000 a0
1.84
S1 =22
CYZSIVET)
SEHRIERES (16.2m2/14. 1m = 1.2m
SHBIOVTEBMITEEDEROLOLT S
% EmmEE 1/1
Z 4% MEHFHEEE
Z2I ] AEMEIS KEEIBIE
fie R 1/100




HKEDERRR

12.50

t i m X

28.0
+4.76

1.40

BRAET 4.70%0.10x37.0=17. 4m3

S=1:50
CP-I & ¢2.0m
\

[aLF— k1 T)
by FHRIEES :29.4m2/19.7m = 1.5m
C1
3
s 00 0

2.01
$1=23.0
15 BEERT (1t0)
KERRFEM T H=5. Om (5ERFE)
H=5. Om L=18. 4m
DL=155. 00
EL=153. 00
EL=149. 00
KNI 5 &AM

0.60x1.20%2.00~2#%

#E BESRCP-IE 1500 t=2.7mm L=14.0m 1m/172kg 172x14.0-+1.0=2.41t

avy—brs% 2.35t/1m3 (4.8x5.0-(1.77x1.28) x2.3)/2.356=21. 27t

Fa4E=17. 4m3

PRHE (81)=381. 6m3
2% 1+=690. 7m3
1R (C)=146. 4m3

0.20 |0.3p 1.00 3.10

BA=54. Tm3

4.6

3.9

23. A6m
ogm o2 2"

iE &
£ B M 0.90%19.7=17. 73m3
K m T 2 %)

aNS— kAT T& $2.0m t=2. Tmm L=23. 46m

15 BAkary ) — MEET (FQ)

GW-1. 2-1 (b-s)

EL=154.80

EL=152. 44

GW-1. 2-1 (b-S)
H=4.50m L=8. 00m

HHEER 3.76m3
R TH kB 138

a9 1) — hBEEE 59.52m3

KYEBIOVWTEHPRITEEDERDLDET S

% EemEE 1/1
£ 4 MEBEZHHEEEZ
& ™ AEHE2S KEEEIE

e R 1/100




	10.図面一式.pdf

